Transfers Report

This report contains the transfers results.

Contest Name Ward 1 - Musselburgh

Valid Votes
Positions to be Filled
Quota

7,608 4 1,522

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
John Murray CALDWELL	Independent	804
Stuart McDonald CURRIE	Scottish National Party (SNP)	1,683
Andy FORREST	Scottish Labour Party	1,178
Claire Frances GRAHAM	Scottish Liberal Democrats	470
Katie MACKIE	Scottish Conservative and Unionist	1,472
Jason ROSE	Scottish Green Party	497
Katherine SANGSTER	Scottish Labour Party	568
Theresa SIVES	Independent	96
John Charles WILLIAMSON	Scottish National Party (SNP)	840
	Total	7,608

Candidate Stuart McDonald CURRIE Elected with 1,683 votes, being in excess of the quota of 1,522

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Stuart McDonald CURRIE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John Murray CALDWELL	56	0.09566	5.35696
Transfer to Stuart McDonald CURRIE	0	0.00000	0.00000
Transfer to Andy FORREST	101	0.09566	9.66166
Transfer to Claire Frances GRAHAM	36	0.09566	3.44376
Transfer to Katie MACKIE	18	0.09566	1.72188
Transfer to Jason ROSE	104	0.09566	9.94864
Transfer to Katherine SANGSTER	26	0.09566	2.48716
Transfer to Theresa SIVES	7	0.09566	0.66962
Transfer to John Charles WILLIAMSON	1,261	0.09566	120.62726
Value of non-transferable ballot papers			7.08306
	Total		161.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Exclusion of Theresa SIVES

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John Murray CALDWELL	34	1.00000	34.00000
Transfer to Stuart McDonald CURRIE	0	0.00000	0.00000
Transfer to Andy FORREST	5	1.00000	5.00000
Transfer to Claire Frances GRAHAM	14	1.00000	14.00000
Transfer to Katie MACKIE	5	1.00000	5.00000
Transfer to Jason ROSE	2	0.09566	0.19132
Transfer to Jason ROSE	13	1.00000	13.00000
Transfer to Katherine SANGSTER	1	0.09566	0.09566
Transfer to Katherine SANGSTER	9	1.00000	9.00000
Transfer to John Charles WILLIAMSON	3	0.09566	0.28698
Transfer to John Charles WILLIAMSON	7	1.00000	7.00000
Value of non-transferable ballot papers			9.09566
	Total		96.66962

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Claire Frances GRAHAM

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John Murray CALDWELL	4	0.09566	0.38264
Transfer to John Murray CALDWELL	53	1.00000	53.00000
Transfer to Stuart McDonald CURRIE	0	0.00000	0.00000
Transfer to Andy FORREST	2	0.09566	0.19132
Transfer to Andy FORREST	74	1.00000	74.00000
Transfer to Katie MACKIE	1	0.09566	0.09566
Transfer to Katie MACKIE	91	1.00000	91.00000
Transfer to Jason ROSE	9	0.09566	0.86094
Transfer to Jason ROSE	109	1.00000	109.00000
Transfer to Katherine SANGSTER	2	0.09566	0.19132
Transfer to Katherine SANGSTER	58	1.00000	58.00000
Transfer to Theresa SIVES	0	0.00000	0.00000
Transfer to John Charles WILLIAMSON	9	0.09566	0.86094
Transfer to John Charles WILLIAMSON	39	1.00000	39.00000
Value of non-transferable ballot papers			60.86094
	Total		487.44376

Transfers Report

This report contains the transfers results.

Stage 5 - Surplus of Katie MACKIE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John Murray CALDWELL	2	0.00291	0.00582
Transfer to John Murray CALDWELL	360	0.03046	10.96560
Transfer to Stuart McDonald CURRIE	0	0.00000	0.00000
Transfer to Andy FORREST	2	0.00291	0.00582
Transfer to Andy FORREST	261	0.03046	7.95006
Transfer to Claire Frances GRAHAM	0	0.00000	0.00000
Transfer to Katie MACKIE	0	0.00000	0.00000
Transfer to Jason ROSE	3	0.00291	0.00873
Transfer to Jason ROSE	115	0.03046	3.50290
Transfer to Katherine SANGSTER	1	0.00291	0.00291
Transfer to Katherine SANGSTER	217	0.03046	6.60982
Transfer to Theresa SIVES	0	0.00000	0.00000
Transfer to John Charles WILLIAMSON	3	0.00291	0.00873
Transfer to John Charles WILLIAMSON	25	0.03046	0.76150
Value of non-transferable ballot papers			17.99565
	Total		47.81754

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Jason ROSE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John Murray CALDWELL	21	0.03046	0.63966
Transfer to John Murray CALDWELL	8	0.09566	0.76528
Transfer to John Murray CALDWELL	76	1.00000	76.00000
Transfer to Stuart McDonald CURRIE	0	0.00000	0.00000
Transfer to Andy FORREST	12	0.03046	0.36552
Transfer to Andy FORREST	6	0.09566	0.57396
Transfer to Andy FORREST	87	1.00000	87.00000
Transfer to Claire Frances GRAHAM	0	0.00000	0.00000
Transfer to Katie MACKIE	0	0.00000	0.00000
Transfer to Katherine SANGSTER	12	0.03046	0.36552
Transfer to Katherine SANGSTER	5	0.09566	0.47830
Transfer to Katherine SANGSTER	97	1.00000	97.00000
Transfer to Theresa SIVES	0	0.00000	0.00000
Transfer to John Charles WILLIAMSON	1	0.03046	0.03046
Transfer to John Charles WILLIAMSON	78	0.09566	7.46148
Transfer to John Charles WILLIAMSON	225	1.00000	225.00000
Value of non-transferable ballot papers			137.83235
	Total		633.51253

Transfers Report

This report contains the transfers results.

Stage 7 - Exclusion of Katherine SANGSTER

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John Murray CALDWELL	19	0.03046	0.57874
Transfer to John Murray CALDWELL	30	1.00000	30.00000
Transfer to Stuart McDonald CURRIE	0	0.00000	0.00000
Transfer to Andy FORREST	125	0.03046	3.80750
Transfer to Andy FORREST	5	0.09566	0.47830
Transfer to Andy FORREST	557	1.00000	557.00000
Transfer to Claire Frances GRAHAM	0	0.00000	0.00000
Transfer to Katie MACKIE	0	0.00000	0.00000
Transfer to Jason ROSE	0	0.00000	0.00000
Transfer to Theresa SIVES	0	0.00000	0.00000
Transfer to John Charles WILLIAMSON	3	0.03046	0.09138
Transfer to John Charles WILLIAMSON	15	0.09566	1.43490
Transfer to John Charles WILLIAMSON	35	1.00000	35.00000
Value of non-transferable ballot papers			113.83987
	Total		742.23069

Transfers Report

This report contains the transfers results.

Stage 8 - Surplus of Andy FORREST

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John Murray CALDWELL	104	0.00636	0.66144
Transfer to John Murray CALDWELL	13	0.01998	0.25974
Transfer to John Murray CALDWELL	435	0.20895	90.89325
Transfer to Stuart McDonald CURRIE	0	0.00000	0.00000
Transfer to Andy FORREST	0	0.00000	0.00000
Transfer to Claire Frances GRAHAM	0	0.00000	0.00000
Transfer to Katie MACKIE	0	0.00000	0.00000
Transfer to Jason ROSE	0	0.00000	0.00000
Transfer to Katherine SANGSTER	0	0.00000	0.00000
Transfer to Theresa SIVES	0	0.00000	0.00000
Transfer to John Charles WILLIAMSON	2	0.00060	0.00120
Transfer to John Charles WILLIAMSON	13	0.00636	0.08268
Transfer to John Charles WILLIAMSON	54	0.01998	1.07892
Transfer to John Charles WILLIAMSON	211	0.20895	44.08845
Value of non-transferable ballot papers			264.96846
	Total		402.03414

Transfers Report

This report contains the transfers results.

Stage 9 - Exclusion of John Murray CALDWELL

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Stuart McDonald CURRIE	0	0.00000	0.00000
Transfer to Andy FORREST	0	0.00000	0.00000
Transfer to Claire Frances GRAHAM	0	0.00000	0.00000
Transfer to Katie MACKIE	0	0.00000	0.00000
Transfer to Jason ROSE	0	0.00000	0.00000
Transfer to Katherine SANGSTER	0	0.00000	0.00000
Transfer to Theresa SIVES	0	0.00000	0.00000
Transfer to John Charles WILLIAMSON	35	0.00636	0.22260
Transfer to John Charles WILLIAMSON	9	0.01998	0.17982
Transfer to John Charles WILLIAMSON	42	0.03046	1.27932
Transfer to John Charles WILLIAMSON	34	0.09566	3.25244
Transfer to John Charles WILLIAMSON	134	0.20895	27.99930
Transfer to John Charles WILLIAMSON	227	1.00000	227.00000
Value of non-transferable ballot papers			847.57565
	Total		1,107.50913